I RBEMRDFE
1 fafEKEE

fAREKEBOEHAE Nz (YR DRIR)
BRI5 B KR IC & S EaF0E KR EL KO (m/s)
FIEAERICKHHI1F (D20) (mm)
TIEDELE (JRRHDEIR)
BaFNEKEE KO 3.60E-02 |(m/h)
T8 $5+ VLN | AR L) hE) ik INDR] | —TRBA—
$1#%(mm)| 0~0.01 |0.01~0.05[0.05~0.10{0.10~0.25[0.25~0.50| 0.50~1.0 | 1.0~5.0
kO(m/s) 3. 0E-08 4. 5E-06 3. bE-05 1. 5E-04 8. bE-04 3. 5E-03 3. 0E-02 1. 0E-05
2 REMRZOHRFTLES
2.1 &REtEE
Qd = Qa + Qt
Qd : FKEHWLEE (m3hr)
Qa : BHAIFKEHREE (m3 hr)
Qt : BHZEHATEE (m3)
22 BRIERBE=E
Qa = C X Qf
Qf = Kf x KO
Qa : BHAIFKEHREE (M3 hr)
C BERM =[ o811
Qf : REZRBE (m3 hr)
Kf : LLiRBE (M)
KO : TIEDEAFIEKFZE (m/hr)
23 BuUZERITEE
Qt= V X Tv
Qt : BAEZEEHATEE (m3)
VK (ma3)
Tv : ZE[EE (%)
3 REBEEZZLONEES
&% TiE mAE| SEtaEs HE B g
Qd(ma/hr) 2 Qd(m3/hr)
REBEN T 0.472 m 0.000
=B AN 0.345 ] 0.000
i3 * K ok * ok ok * ok ok * %k ok 0.000
4 FIFE
HEQ | LEEXQ ¥I5E 1 ==
(m3/hr) (m3/hr)
0.00




DEBNVFOHRTNEE
A&
REBERIR EENUF EEEER[SE]
p=geidr:] IR g W= 900 (mm)
sREt/kEE H=15m 5NZEDP1= 566 (mm)
HEER AR AR W=15m NEp2=, 450 (mm) FEKS—k
HAK Kf=aH+b
u a 3.093 e
e e || S
H(m) 0.8 x 4
W(m) 0.9 N N
L(m) * % % N \
" a 3.093 ) o
R 1.883 B O H= 800
Kf 4.357

50 3
2 HB{EKEHREEQa
Qf = Kf x KO
Qf : E#EZEZE (m3/hr./m)
Kf : LEiRBE(m) = 4357
KO : TIEDMBEKFEE (m/hr) = 0.036
Qf = 0.156 (m3.”hr.” m)
Qa = C X Qf
C HERH = 0.81
Qa = 0.126 (m3.”hr.” m)
3 HBuUZEMATZEEQt
QA= (WH—m-¢p17°2/4) - Tv+ 1 927274
Qt : BEAZEEETEE (ma)
Tv : ZMEEK (%) = 40 (BRHIERHS-30)
Wm) | Hm) |d1m| o2 |W 'H‘”;j" T at
0.9 0.8 0.566 0.45 0.187 0.159 0.346
4 FZETAES
Qd = Qa + Qt
= 0126 + 0.346

= 0.472]} (m3.”/hr.” m)
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QRBREDHRITNES
SRR S
BRI BEAE ZEBEX(SE]
=BEME flE- K@ @ W= 900
ERETIKEE H=1.5m 5} iEB1= 550
HEER AR AR W=15m AIEB2= 425
HEARK Kf=aH+b |
" a 3.093
T 1 3aws0677 | ZRE o
H(m) 038 X — TEASSSIEYE
W(m) 0.9 2554 350
L(m) * ok ok .;:_.._l v
a2 3.093 i M hi= 42
1.883 B HERE H= 800
Kf 4.357 L
e A2 U A e 50
BK—K
B ERETIRBEEQa
Qf = Kf x KO
Qf : HREZBEE (m3 hr)
Kf : thiRB= (m) = 4357
KO : TIEDEAFFEKEZEE (m/hr) = 0036
Qf =  0.157 (m3./hr.” m)
Qa = C x Qf
C EERH = 0.81
Qa = 0.127 (m3./hr.”m)
BEAMZEEATE EQt
Qt= (W +H —B1+h1) - Tv + B2-h2
Qt : BEZEEETEE (m3)
Tv : ZZEE (%) = 40 (BRI ERHS-30)
W(m) | Hm) | Bt (m)| B2(m) | h1 | h2 | (W H-B1-h1)Tv |B2-h2 Qt
0.9 0.8 0.55 0.425 042 04 0.196 0.149 0.345
HEtnEs
Qd = Qa + Gt
= 0127 + 0.345
= 0.472]} (m3.”/hr.” m)




Q@REFT (AFFY, AEXRVERRSE) ORNES

1 EREHERE
2EM RIEEX] BEBER[SE]
RBE flm- K| & - B47:W= 600
BaEORIK EEAR 5 ZE P 1= 400
SRETIKEE H=<15m HNE p2=350_
FEER AR AR W=1m | |
HARK Kf=aH"2+bH+c -
a 0.120W+0.985 _ V4
% b | 7.837W+0.82 — ISSS
c 2.858W-0.283 . j::j‘;jg
H(m) 0.8 : gﬁg
D(m) 0.6 NI h= 700
SN
L(m) ol B =S T [ VNSNS
; 057 388
®=#%| b 5.522 ¥
1.432 e
Kf 6.526 B ERE ~ H=800
U AT, Bh Bon
BK—E
2 BFFREHRBEEQa
Qf = Kf x KO
Qf : HEFZFEE (m3 hr)
Kf : LEiB2&E=(m) = 6526
KO : TIEDEAFFEKEZE (m/hr) = 0036
Qf = 0234 (m3./hr)
Qa = C x Qf
C HERHN = 0.81
Qa = 0.189 (m3./hr)
3 HfZTMATEEQL
Qt= (W 2-H—m-¢p1"274 h) -Tv+ 1 -$2°2/4 - h
Qt : BAIZERETEE (m3)
Tv : ZEMEE (%) = 40 (BRI ERHS-30)
W) | Hem [¢1m | ¢2m) | hm [WZHT O hgrpan  at
0.6 0.8 0.4 0.35 0.7 0.080 0.067 0.147

4 ERETUEE
Qd = Qa + Qt
0189 + 0.147
=| 0.336](ms./ hr. @)




@REFT (AFEFEY, EEEZSE) DHRTVEE

1

BHESis
=M EIEEXD ZERBER[SE]]
RBE =] 0g - B47: W= 600
BaEORIK EEAR 5 1E P 1= 400
FXET/KER H=15m JNE 2= 350,
SRR W=<1m | !
HARK Kf=aH+b
a 1.676W-0.137 V4
=l b |1496w 2+0671W-0015 —
c _
H(m) 0.8
W(m) 0.6 HR: 2B 1R+ | h= 700
L(m) * % ok
a 0.869
E3 0.926
Kf 1621 § B AT S H= 800
R GRETRE RE )
BK—E/
BT R EEQa
Qf = Kf X KO
Qf : HEFZFEE (m3 hr)
Kf : tEiRB=(m) = 1.621
KO : TIEDEAFFEKEZE (m/hr) = 0036
Qf = 0.058 (m3.hr)
Qa = C X Qf
C HERHN = 0.81
Qa = 0.046 (m3.”hr)
Bz fEErBE EQt
Qt= W2(H—h)-Tv+ 7 027274+ h
Qt : BEIZHETEE (m3)
Tv : ZEMEE (%) = 40 (BRI ERHS-30)
Wm) | Hm) [¢1(m) ]| ¢2(m) h(m) |W2-(H-h)Tv | 6222 Qt
0.6 0.8 0.4 0.35 0.7 0.014 0.067 0.081
REtALIES
Qd = Qa + Qt
0046 + 0.081

0.127

(m3./hr./ {&8)




@REFT (EARFYT, AERVERRSE) DRI VLESE

1 ERETEH
BEM EARET TEBEER[SE]
RBE flm- K| 0g - B47: W= 600
BaEORIK EEAR 5} iEB1= 400
AR ETIKEE H=15m _RIEB2= 350
FEER AR AR W=1m | |
HARK Kf=aH"2+bH+c P
a 0.120W+0.985 V4
Z=¥| b 7.837W+0.82 =
c 2.858W-0.283
H(m) 0.8
W(m) 0.6
L(m) * % ok
a 1.057
®=#%| b 5.5222
1.4318
Kf 6.526

2 H{IFREHRBEEQa
Qf = Kf X KO
Qf : HEFZFEE (m3 hr)
Kf : tEiRB=(m) = 6526
KO : TIEDEAFFEKEZE (m/hr) = 0036
Qf = 0234 (m3./hr)
Qa = C X Qf
C HERHN = 0.81
0.189 (m3.hr)

Qa

3 EBEfZEEArEEQ
Qt= (W2-H—B1"2-h) -Tv+B22-h
Qt : B ZERITEE (ma)

Tv: ZMRE (%) = 40 (HHERES-30)

W(m)| H(m) | BT (m) B2 (m) h(m) [W2-H-B172-h)-Tv|B2"2-h Qt
0.6 0.8 04 0.35 0.7 0.070 0.086 0.156
4 ERETALIES
Qd = Qa + Qt
0.189 + 0.156

=| 0.345|(m3./hr.” @)




@REFT (EARFT, EERE)D

1 ERETEH
BEM EARET FEEER[SE]
RBE =] 1g-B47:W= 600 (mm)
BaEORIK EAH 54 iEB1= 400 _ (mm)
AR ETIKER H=15m _MIEB2= 350 | (mm)
FEER AR AR W=1m | |
HARK Kf=aH+b
a 1.676W-0.137 V4
Z=#| b 1496w 2+0671W-0015 —
c _
H(m) 0.8
W(m) 0.6 HREL 255 Mt BEREL| h= 700
L(m) * % ok
a 0.869
®=#%| b 0.926
Kf 1621 g R ~ H=800
Sy BRED A 50
BK—b
2 H{IFREHRBEEQa
Qf = Kf X KO
Qf : HEFZFEE (m3 hr)
Kf : tEiRB=(m) = 1.621
KO : TIEDEFIFEKEZEE (m/hr) = 0036
Qf = 0.058 (m3.hr)
Qa = C x Qf
C HERHN = 0.81
Qa = 0.046 (m3.”hr)
3 H{ZTATE=EQt
Qt= W™2:(H—h)-Tv+B22-h
: BAIZE[HATEE (m3)
Tv: ZEE (%) = 40 (BRI ERHS-30)
W(m) | Hm) | B2 )| h (m) WAZ'(THV_h)' B2°2-h Qt
0.6 0.8 0.35 0.7 0.014 0.086 0.100
4 ERETUEE
Qd = Qa + Qt
0046 + 0.100
=| 0.146](m3s./ hr. @)

BIHEE




